Options :

212807126317. 1
212807126318. 2
212807126319. 3
212807126320. 4
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Question Number : 201 Question Id : 21280731581 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

People with different backgrounds perform diverse tasks in an organisation to achieve common
goal. What aims at guiding their efforts towards achieving a common goal ?
(1) Planning
(2) Controlling
(3) Coordination
(4) Management
Options :
212807126321. 1
212807126322. 2

212807126323. 3
212807126324. 4

Question Number : 201 Question Id : 21280731581 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
|Key Value
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212807126321. 1
212807126322. 2
212807126323. 3
212807126324. 4

Question Number : 202 Question Id : 21280731582 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Radha owns a company of handmade craft in a rural area and she employed marginalised sections
of society in her company and gave them wages as per the work completed by them. Identify the
objective of management that is accomplished by Radha.
(1) Organisational Objective
{2) Social Objective
(3) Intangible Objective
(4) Personal Objective
Options :
212807126325. 1
212807126326. 2

212807126327.3
212807126328. 4

Question Number : 202 Question Id : 21280731582 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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212807126327. 3
212807126328. 4

Question Number : 203 Question Id : 21280731583 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Following are the techniques suggested by Taylor.
(A) Motion Study
(B) Time Study
(C) Cooperation, not Individualism
(D) Harmony not Discord
(E) Fatigue Study
Choose the correct answer from the options given below :
(1) (A), (B), (C) and (D) Only
(2) (B), (C), (D) and (E) Only
(3) (A, (B) and (E) Only
(4) (A), (B) and () Only
Options :
212807126329, 1
212807126330. 2

212807126331. 3
212807126332. 4

Question Number : 203 Question Id : 21280731583 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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Options :
212807126329. 1

212807126330. 2
212807126331. 3



212807126332. 4

Question Number : 204 Question Id : 21280731584 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Ravi, the Sales Manager of Global Limited, never listens o others regarding sales policies, he think
that he only is qualified to evaluate, judge and decide policies related to sales decisions. This leads
to conflict among him and other departmental heads. So coordination is required to reconcile the
differences between Ravi and other departmental heads.
Which importance of ceordination is referred to in above case.
(1) Growth in size
(2) Functional Differentiation
(3) Specialisation
(4) Increasing Efficiency

Options :

212807126333, 1

212807126334. 2

212807126335. 3
212807126336. 4

Question Number : 204 Question Id : 21280731584 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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212807126334.2

212807126335. 3
212807126336. 4

Question Number : 205 Question Id : 21280731585 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




LPG Model means .

(1) Liberty, Poverty, Globalisation

(2) Liberty, Privatisation, Globalisation

(3) Labour, Products and Goods

(4) Liberalisation, Privatisation and Globalisation
Options :
212807126337. 1
212807126338 2

212807126339. 3
212807126340. 4

Question Number : 205 Question Id : 21280731585 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Options :

212807126337. 1
212807126338. 2
212807126339. 3
212807126340. 4

Question Number : 206 Question Id : 21280731586 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

means the integration of the various economies of the world leading towards the emergence
of a cohesive global economy.
(1) Privatisation
(2) Industrialisation
(3) Globalisation
(4) Liberalisation
Options :
212807126341. 1
212807126342. 2

212807126343. 3
212807126344. 4

Question Number : 206 Question Id : 21280731586 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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212807126341. 1
212807126342. 2
212807126343. 3
212807126344. 4

Question Number : 207 Question Id : 21280731587 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
Match List - 1 with List - IL
List - 1 List - I1
(A) General stability and peace in country {I) Economic environment
(B) Legislations passed by the government (II)  Social environment
(C) Inflation rates, changes in income (Il Legal environment
(D) Custom, traditions, values {IV) Political environment

Choose the correct answer from the options given below :
(1)  (A-AV), (B)-(), (C)-(UI), (D)-(II)

(2)  (ARD, (B)-(I), (O)-(10), (D}(IV)

(3) (ARIV), (B)-(II), (O)-(D), (D)-(W)

@) (A)-IV), (B)-(IL), (O~1I), (D)-(I)
s 126345. 1
212807126346 2

212807126347. 3
212807126348. 4

Question Number : 207 Question Id : 21280731587 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




o1 8 gEI-11 =1 Tt sifa

eI -1
(A) arr feerar of S o wify (O snfdE vaiero

(B) ETHR % gRY il A (I) arefass oo
(C) yerewifa @, s § ufterd= (1D Tafess wafam
(D) I, fars, g (IV) i wafaom

9 few e foepedi 9 O W SR w99 FST
(1) (ARIV), (B)}-(D), (C)-(IID), (D)-(IT)

2) (AR, (B)-dD), (O)-(I0), (D)-(IV)

(3)  (A)-IV), (B)-(II), (O)~(D), (D)-(II)

(4) (A) (Iv), (B)-(IL), (O)~(I1), (D)~(I)

212807126347. 3
212807126348. 4

Question Number : 208 Question Id : 21280731588 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Following is not a part of Globalisation.
(1) Integration of various economies of the world
(2) Increased level of interaction and interdependence among various nations
(3) No physical geographical gap or political boundaries
(4) Restrictions on import
Options :
212807126349, 1
212807126350. 2

212807126351. 3
212807126352. 4

Question Number : 208 Question Id : 21280731588 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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212807126350. 2
212807126351. 3
212807126352. 4

Question Number : 209 Question Id : 21280731589 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Arrange the steps of Planning process in the correct sequence.
(A) Setting Objectives

(B) Developing premises

(C) Identifying alternative courses of action

(D) Evaluating alternative courses

(E) Selecting an alternative

Choose the correct answer from the opticns given below :
(1) (&) (B) (D), E), (©)

(2) (&), ©), E), (D) (B)

(3) (&), (B) (©) (E) (D)

(4) (&), (B), (O, (D) (B)

Options :

212807126353. 1
212807126354. 2
212807126355. 3
212807126356. 4

Question Number : 209 Question Id : 21280731589 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :

212807126353. 1
212807126354. 2
212807126355. 3



212807126356. 4

Question Number : 210 Question Id : 21280731590 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

“Inspite of all efforts, company may fail to achieve dominant position in the market by the end of
the next financial year”. Which limitation of the function of management, is referred in the above
statement.
(1) Leads to Rigidity
{2) Reduces Creativity
(3) Time Consuming
(4) Does not guarantee success
Options :
212807126357. 1
212807126358. 2

212807126359. 3
212807126360. 4

Question Number : 210 Question Id : 21280731590 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :

212807126357. 1
212807126358. 2
212807126359. 3
212807126360. 4

Question Number : 211 Question Id : 21280731591 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




Match List - I with List - IL

List - I List - II
(A) Strategy () What you would like to achieve
{B) Programme () Sequence of steps for performing work in a given manner
(C) Procedure () A Comprehensive plan for accomplishing an organisation’s
objectives
(D) Objectives {IV) Detailed statements with each and every minute detail

Choose the correct answer from the opticns given below :
(1) (A)D, (B)-(IV), (O-(L), (D)-(I)

(2)  (A)(ID, (B)-IV), (CO)~(D, (D)-(ID

(3) (AIV), (B-(ID, (O)-(I), (D)-()

(4) (A)1V), (B-(ID, O, (D)-(1D)

s 1

212807126362. 2

212807126363. 3
212807126364 4

Question Number : 211 Question Id : 21280731591 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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(1) (A)-ID, (B)-(IV), O)-(L0), (D)-()
(2) (A1, (B)-(V), O)-(D, (D))
(3)  (A)IV), (B)-(IID), (C)-(TT), (D)-(T)
(4)  (A)-IV), (B)-(I1D), (©O)-(D), (D)~(I)

212807126363. 3
212807126364. 4

Question Number : 212 Question Id : 21280731592 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




Identify the elements of delegation.
(A) Authority

(B) Centralisation

(C)  Decentralisation

(D) Accountability

(E) Responsiblity

Choose the correct answer from the opticns given below :
(1) (A), (B) and (C) Only

(2) (B), (C) and (D) Only

(3) (A), (D) and (C) Only

(4) (A), (D) and (E) Only

Options :
212807126365 1
212807126366. 2

212807126367. 3
212807126368. 4

Question Number : 212 Question Id : 21280731592 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
FET F e oY e i)
(A) HHFR

(B) HEIHIW

(C) Tam=iast

(D) SrETEEE

(E) suefre

e fou e fawed § 4 |8 S 99 Fifea
(1) Faa (A), (B) 31 (C)

(2) %9 (B), (C) IR (D)

(3) % (4), (D) ¥ (C)

(4) e (A), (D) 3 (E)

Options :

212807126365. 1
212807126366. 2
212807126367. 3
212807126368. 4

Question Number : 213 Question Id : 21280731593 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Identify which of the following concept arises from formal position.
(1) Authority

(2) Responsibility

(3) Accountability

(4) Power

Options :

212807126369. 1
212807126370. 2
212807126371. 3
212807126372. 4

Question Number : 213 Question Id : 21280731593 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

212807126369. 1
212807126370. 2
212807126371. 3
212807126372. 4

Question Number : 214 Question Id : 21280731594 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the following statement is “correct’ ?
(1) Formal organisations are quicker in decision making
(2) Formal organisations are flexible
(3) Formal organisations emphasizes on work rather than interpersonal relationships
(4) Formal organisations are formed on its own
Options :
212807126373. 1
212807126374. 2

212807126375. 3
212807126376. 4

Question Number : 214 Question Id : 21280731594 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

212807126373. 1
212807126374.2
212807126375. 3
212807126376. 4

Question Number : 215 Question Id : 21280731595 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Accountability arises from :

(1) Delegated authority

(2) Responsibility

(3) Formal position

(4) Obligation to perform an assigned task
Options :
212807126377 1
212807126378. 2

212807126379. 3
212807126380. 4

Question Number : 215 Question Id : 21280731595 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
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Comprehension MCQ
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Options :

212807126377. 1
212807126378. 2
212807126379. 3
212807126380. 4

Question Number : 216 Question Id : 21280731596 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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|C0mprehensi0n |MCQ

Rearrange the staffing process in proper sequence :
(A) Traning and Development

(B) Performance Appraisal

(C) Placement and Orientation

(D) Promotion and Career planning

(E) Compensation

Choose the correct answer from the options given below :
(1) (A), ©, (D) (B), (B

(2) (&), ©), B), D) B

() O, (A), D) (B) (E)

4) (O (&) (B), (D) E)

Options :

212807126381. 1
212807126382. 2
212807126383. 3
212807126384. 4

Question Number : 216 Question Id : 21280731596 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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(3)  (©, (&), (D) (B) (B)
(4)  (©), (A). (B). (D) (B)

212807126381. 1
212807126382. 2
212807126383. 3
212807126384. 4

Question Number : 217 Question Id : 21280731597 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
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Correct Marks : 5 Wrong Marks : 1
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Comprehension MCQ




Match List - I with List - IL

List -1 List - IT
(A) Intelligence tests (I) Potential to learn new skills
(B) Apttude tests () Measures the existing skills
(C) Personality tests (III) Ability to make decisions and judgement
(D) Trade tests (IV) Provide clues to a person’s emoticns, reactions, maturity
etc.

Choose the correct answer from the options given below :
(1) (&)1, (By-(II), (O~(1V), (D)-(11)

(2)  (A)-(IV), (B)-(II), (C)-(II1), (D)-(D)

(3) (A)-D, (B)-(D), (O-(IV), (D)-(ID)

(4) (A1), B)-(IV), (Or-(1I), (D)-(I)

;) 122?)2812.6385. 1

212807126386. 2

212807126387. 3
212807126388. 4

Question Number : 217 Question Id : 21280731597 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Key Value
Comprehension MCQ
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(1) (A)D), (B)-(I0), (O~(IV), (D)1

(2)  (A)-(IV), (B)-(ID), (O)-(III), (D)-()

(3) (A, (B)-(I), (O-(IV), (D)1

(4) (A, (B)-(IV), (C)-(IL), (D)-()
SO,

212807126386. 2

212807126387. 3
212807126388. 4
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Correct Marks : 5 Wrong Marks : 1
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Key Value
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“Workload Analysis” and “Workforce Analysis” are two aspects of an important step in staffing
process. Identify that step.
(1) Recruitment
(2) Selection
(3) Placement and Orientation
(4) Estimating the manpower requirements
Options :
212807126389. 1
212807126390. 2

212807126391. 3
212807126392. 4
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

"R fasdam’’ e rd-wif frvero '’ Pyl whra % v weearqel T F § uwe § 139 9@
I YEEMA |

(1) ol

(2) =

(3) Tryfsa awn stfwferarg

(4) e ofya swereaedsi W SR

Options :

212807126389. 1
212807126390. 2
212807126391. 3
212807126392. 4

Question Number : 219 Question Id : 21280731599 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




Match List - I with List - I

List - I List - II
(A) Apprenticeship Programmes ()  Stimulates the work environment
(B) Internship Training () Training is conducted away from actual work floor
(C) Vestibule Training (OI) Acquire practical knowledge and skills along with
regular studies
(D) Computer Modelling (IV) Put the trainee under the guidance of a master
worker

Choose the correct answer from the options given below :
(1) (AHD), (B)-(1D, (O)(1), (D)-(IV)

(2)  (A)IV), (B)-(D), (O«(1D), (D)-(I11)

(3)  (A)(IV), (B)-(IID), (O)~(), (D)-(D

(4) (A1, B)-UI), (O-(1V), (D)}-(D)

o807 126395. 1

212807126394, 2

212807126395. 3
212807126396. 4

Question Number : 219 Question Id : 21280731599 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Teit-1 § FA-11 7 faerr Hifaa

-1 TeEil-11
(A) ufereroneff sy (1) e SeTErr S Weare e §

(B) wrag glasm (1) when sreafr st § gea ko A d
() RS yfrgm iy Frafrg siera & oy sgelie 319 am Haa sl =@ §
(D) o wiyaE (1vy wftrsrmeft = weitor st & arfeda § w@

i fou o fawed) § 4 OEr S9TH g wifew
(1) (A0, (B)-(1D, (O, (D)-(IV)
(2)  (A)-IV), (B)-(D), (O-(1D), (D)-(11D)
(3)  (A)-IV), (B)-(IID, (O~I), (D))
(4) (A1), (B)-(UI), (O)=(IV), (D)-(I)
R 126395. 1
212807126394. 2

212807126395. 3
212807126396. 4

Question Number : 220 Question Id : 21280731600 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
IKey Value




|C0mprehensi0n |MCQ

Arrange the following needs of an individual as per Maslow’s Need Hierarchy theory.
(A) Status

(B) Hunger

(C) Friendship

(D) Stability of Income

(E) Self fulfilment

Choose the correct answer from the options given below :
(1) (B), (D), (©) (A) (B)

(2)  (B) (D), (A) €) ()

(3) (D) B), @A) ©) B

4) (&), (B), D), E) ©

Options :

212807126397. 1
212807126398. 2
212807126399. 3
212807126400. 4

Question Number : 220 Question Id : 21280731600 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

& i 9 Freifafas sravreaeil A el & sravasa w9 fagla & o ar srafeg i
(A) U=

(B) Y&
(C) T
(D) &% =i T

(E) ore-Hgfe
i fou o fawed) § 4 OEr S9TH g wifew

(1) (B, (D), ©) (A) (B)
(2)  (B), (D). (A), ©), (B)
(3) (D) (B), (A), ) (E)
(4) (A), (B) (D), (E), O

Options :

212807126397. 1
212807126398. 2
212807126399. 3
212807126400. 4

Question Number : 221 Question Id : 21280731601 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




By which function, managers at all levels can ensure that activities are being performed as per the
plans ?
(1) Organising
(2) Controlling
(3) Directing
(4) Staffing
Options :
212807126401, 1
212807126402. 2

212807126403. 3
212807126404. 4

Question Number : 221 Question Id : 21280731601 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

e =1 % g1, werysh Al Tl W g o wwa 8 T Brarmerd! s Frong dramnsdl & sigar e
MR ?

(1) W

(2) T

(3) Trewm

(4) T

Options :

212807126401. 1
212807126402. 2
212807126403. 3
212807126404. 4

Question Number : 222 Question Id : 21280731602 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which is not the traditional technique of controlling ?
(1) Personal Observation

(2) Statistical Reports

(3) Ratio Analysis

(4) Budgetary Control

Options :

212807126405. 1
212807126406. 2
212807126407. 3
212807126408. 4

Question Number : 222 Question Id : 21280731602 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
IKey Value




|C0mprehensi0n |MCQ

Y | A W i Yyl aEE T 2
(1) =l stEeie
(2) wierp wiEe

(3) eruta faverm
(4) asdy e
Options :

212807126405. 1
212807126406. 2
212807126407. 3
212807126408. 4

Question Number : 223 Question Id : 21280731603 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Arrange the following steps of controlling in a sequence :
(A) Analysing deviations
(B) Setting performance standards
(C) Taking corrective action
(D) Comparing actual performance with standards
(E) Measurement of actual performance
Choose the correct answer from the options given below :
(1) (B (E) (&) (D), ©
(2) (&) (B) (O, (D) (E)
(3)  (B), (E), (D), (A), ©)
#4) (&) (B) (D), ©) (B)
Options :
212807126409. 1
212807126410. 2

212807126411. 3
212807126412. 4

Question Number : 223 Question Id : 21280731603 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Tt wieren & Frrerfofiaa ool =0t weh w9 § exafied i .
(A) TergaEt = favawm

(B) Tooma wreRl it frufeor

(C)  gemrerrars swrfarel e

(D) arefas fasared & Wil & o

() areafys Fremga =1 wmg

i fee e farepedi § 9 W& ST e AR
(1) (B, (E) (A) (D), (O

(2) (A (B), (O, (D) (B

(3) (B) (E), (D), (A), ©

(49) (A) (B), (D), ©), (B)
Options :
212807126409. 1
212807126410. 2

212807126411. 3
212807126412. 4

Question Number : 224 Question Id : 21280731604 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which technique of controlling is used to determine the probable profit and losses at different
levels of activity.

(1) Statistical reports

(2) Personal observation
(3) DBreakeven analysis
(4) Budgetary control

Options :

212807126413. 1
212807126414. 2
212807126415. 3
212807126416. 4

Question Number : 224 Question Id : 21280731604 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




Trarmandt & fafa= ¥ wo durfaa ey o7 wif <6 fruffa @ & fon frasm 36 feg gl =10 5o
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(1) uierRE i

(2) SfarrTE STaeHH

(3) Forn ey ey feredie
(4) Sty T

Options :

212807126413. 1
212807126414. 2
212807126415. 3
212807126416. 4

Question Number : 225 Question Id : 21280731605 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
Match List - I with List - IL
List -1 List - 1I
Factors affecting Factors
(A) Fixed capital (I) Sharehclder’s preference
(B) Working capital () Interest coverage ratio
(C) Dividend Decision (II) Collaboration level
(D) Capital structure (IV) Seasonal factor

Choose the correct answer from the options given below :
(1) &, (B)-0V), ©-D, (D)1
(2) (A1, (B)-(0), (O-1V), (D)-(ID)
(3) (A1, (B)-0), (O-1D), O)-IV)
(4) (A-D, (B)-(D), (OHD), D)-(IV)

Options :

212807126417. 1
212807126418. 2
212807126419. 3
212807126420. 4

Question Number : 225 Question Id : 21280731605 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




-1 & G-I 51 figerr ifag

-1 -1
TuTfad & arA HEH

(A) e g (M  saurs i g
(B) e gsft (II) 4TS STt STUm
(C) e Fofa (ITT)  E&RT 1 &M

(D) gsft deam (V) Hraedy e
o faw e faeredt | & WE =€ v wuA wifeng
(1) (A)-ID, (B)-(IV), )-(D), (D)1

(2)  (A)-ID, (B)-(D), (O-(IV), (D)ID

(3)  (A)ID, (B)-(I), (O)-(1I), (D)-(IV)

(4 (AID, (B)-(I), (CO-I), (D)-(IV)
o,
212807126418. 2

212807126419. 3
212807126420. 4

Question Number : 226 Question Id : 21280731606 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

If a company’s ROL is 7.8% and total investment is T 30 lakhs, then what will be EBIT ?
(1) ¥2,38,000
(2) ¥ 2,40,000
(3) ¥2,34,000
(4) ¥4,00,000
Options :
212807126421. 1
212807126422. 2

212807126423. 3
212807126424. 4

Question Number : 226 Question Id : 21280731606 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

IR TH FEA FT ROT 7.8% wiawra oiw wer Frdw 30 emg ®9d §1 99 EBIT &0 g1y ?
(1) ¥ 2,38,000
(2) ¥ 2,40,000
(3)  ¥2,34,000
(4) ¥ 4,00,000

Options :



212807126421. 1
212807126422. 2
212807126423. 3
212807126424. 4

Question Number : 227 Question Id : 21280731607 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Identify the concept that refer to the difference between current assets and current liabilities.
(1) Gross working capital
(2) Working capital
(3) Net working capital
(4) Fixed capital
Options :
212807126425 1
212807126426. 2

212807126427. 3
212807126428. 4

Question Number : 227 Question Id : 21280731607 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

I FHET N vt St wre) weafell of we Tl F sr it wshia wa f)
(1) wwa weda g

(2) e el

(3) & e e

(4) g

Options :

212807126425. 1
212807126426. 2
212807126427. 3
212807126428. 4

Question Number : 228 Question Id : 21280731608 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Choose the factors affecting capital structure
(A) Risk Consideration

(B) Nature of business

(C) Costof debt

(D) Growth prospects

(E)  Flexibility

Choose the correct answer from the options given below :
(1) (A), (B). () and (D) Only

(2) (A), (C) and (E) Only

(3) (A)and (C) Only

(4) (A), (B) and (C) Only

Options :
212807126429. 1
212807126430. 2

212807126431. 3
212807126432. 4

Question Number : 228 Question Id : 21280731608 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

g(‘)?llnprehension ;]/Iaélg
yoft T yunfae S8 9w B g
(A) Sifia frEr

(B) BIEYE T Upfd

(C) BY &t ErTd

(D) Hgfg g

(E) erdtemys

i fou e fyeedi O O W ST S 99 Hife
(1) &ae (A), (B), (C) 3 (D)

(2) = (A), (C) 3R (E)

(3) % (A) R (C)

(4) FaA (A), (B) M (C)

212807126431. 3
212807126432. 4

Question Number : 229 Question Id : 21280731609 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Answer after reading following about Treasury Bill
(A) A Treasury bill is an instrument of short term borrowing by the Government of India
(B) The maturity period of a Treasury bill is more than one year
(C) Treasury bills are also known as Zero Coupon Bonds
(D) Treasury bills are available for a minimum amount of ¥ 20,000.
(E) Treasury bills are issued at a price which is lower than their face value and repaid at par.
Choose the correct answer from the options given below :
(1) (A), (B), (C) and () Only
(2) (A), (O and (E) Only
(3) (), (B), (O) and (D) Only
(4) (A), (B) and (E) Only
Options :
212807126433, 1
212807126434. 2

212807126435. 3
212807126436. 4

Question Number : 229 Question Id : 21280731609 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
ol forer & ol H g ¥ am TR
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(C) T foret ot 9 o ool T F A o S S #

(D) TSl faet 20,000 ®9F F SYATH Yo 9T IYAH B F 1
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(1) et (A), (B), (C) 3IR (E)

(2) % (A), (C) 3R (E)

(3) %4 (A), (B), (C) 3R (D)

(4) %9E (A), (B) 3R (E)

Options :

212807126433. 1
212807126434. 2
212807126435. 3
212807126436. 4

Question Number : 230 Question Id : 21280731610 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
|Key Value




|C0mprehensi0n |MCQ

Which is a Development function of SEBI -
(1) Registration of Mutual Funds
(2) Traning of intermediaries of the securities market
(3) Regulation of takeover bids by companies
(4) Controlling insider trading
Options :
212807126437. 1
212807126438. 2

212807126439. 3
212807126440. 4

Question Number : 230 Question Id : 21280731610 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
Jait 1 Torerraras w1 S W

(1) TS EE F U

(2) wfayfa arem & qereh w1y

(3) <l gro <ol % sfbrrew w1 Rl
(4) Iripfa sarar g FrEsm

Options :

212807126437. 1
212807126438. 2
212807126439. 3
212807126440. 4

Question Number : 231 Question Id : 21280731611 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the following is not the objective of SEBI ?

(1) To Regulate Stock Exchange and Securities Industry.
(2) To Protect the rights and interests of Investors

(3) To Prevent trade Malpractices

(4) To Spread mechanism for Pricing of Securities

Options :

212807126441. 1
212807126442. 2
212807126443. 3
212807126444. 4

Question Number : 231 Question Id : 21280731611 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

212807126441. 1
212807126442. 2
212807126443. 3
212807126444. 4

Question Number : 232 Question Id : 21280731612 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Arrange the following steps involved in the screen based trading for buying and selling of securities.

{A) Broker goes online, connects with stock exchange and matches the share with best price
available.

(B) Approach a registered broker or sub-broker

(C) Placement of order with broker

{D) Open a demat account with depository participant.

(E) After shares are bought/sold, communication to broker’s terminal and order executed.
Choose the correct answer from the options given below :

(1) (B), (D), (A), ) (B)

2) D) B, A) ©) B
(3) (©. (A), (B), (D) (B)
(4) (B, (D), (C) (A) (B)

Options :

212807126445. 1
212807126446. 2
212807126447. 3
212807126448. 4

Question Number : 232 Question Id : 21280731612 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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(C) et 3 U1 STEW

(D) fedtfaed afgartt % o e wm demn

(B) et siw 3/ Torspr ) o € O s g wetret 3 R wougs S @ ofr s Fromfe €t s
¥
H9 few o fawedi § 4 OE 39T 99wl
(1) (B), (D), (A), (O), (B)
(2) (D) (B), (A), (O), (B)
(3) (O, (A). (B), (D), (B)
4) (B), (D), (©) (A) (B)
Options :
212807126445. 1
212807126446. 2
212807126447. 3
212807126448. 4

-

Question Number : 233 Question Id : 21280731613 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Read the following and select what is marketed ?

“Visit Agra-'City of Love’, “Udaipur’- “The City of Lakes’, ‘Mysore- “The City of Gardens’
(1) Product

(2) Persons

(3) Place

(4) Information

Options :

212807126449. 1
212807126450. 2
212807126451. 3
212807126452. 4

Question Number : 233 Question Id : 21280731613 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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(1) ¥R
(2) =t
(3) M
(4) gIT
Options :

212807126449. 1
212807126450. 2
212807126451. 3
212807126452. 4

Question Number : 234 Question Id : 21280731614 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

“The size and shape of the package should be such that it should be convenient to open and handle’,
Which function of packaging is this statement denoting ?

(1) Product Identification

(2) Facilitating the use of Product

(3) Product Protection

(4) Product Promotion

Options :

212807126453. 1
212807126454. 2
212807126455. 3
212807126456. 4

Question Number : 234 Question Id : 21280731614 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

U T PR T Ty T i =fen o wier ofr e & Torn glawrsres g, ST &1 st wr e
g HoF U & ?

(1) S T IgHH
(2) IEUR R GRUSHS

(3) IR YEU
(4) Fedre Werh
Options :

212807126453. 1
212807126454. 2
212807126455. 3
212807126456. 4



Question Number : 235 Question Id : 21280731615 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The various terms related to branding includes ?
(A) Brand
(B) Brand Name
(C) Brand Mark
(D) Brand Signal
(E) Trade Mark
Choose the correct answer from the options given below :
(1) (A), (B), (D) and (E) Only
(2) (A), (B), (C) and (D) Only
(3 (A)and (B) Only
(4) (A), (B), (C) and (E) Only
Options :
212807126457. 1
212807126458 2

212807126459. 3
212807126460. 4

Question Number : 235 Question Id : 21280731615 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
wifeT § dafe fafo= wegraelt 4 afiverg § 2
(A) wfg
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(1) %9d (A), (B), (D) M (E)

() % (4), (B), (C) 3R (D)

(3) e (A) 3R (B)

(4) FaA (A), (B), (O) 3 (E)

Options :

212807126457. 1
212807126458. 2
212807126459. 3
212807126460. 4



Question Number : 236 Question Id : 21280731616 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Identify the benefits, which is not availed by a customer while purchasing a product:-
(1) Functional Benefits

(2) Psychological Benefits
(3) Saving Benefits
(4) Social Benefits

Options :

212807126461. 1
212807126462. 2
212807126463. 3
212807126464. 4

Question Number : 236 Question Id : 21280731616 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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Options :

212807126461. 1
212807126462. 2
212807126463. 3
212807126464. 4

Question Number : 237 Question Id : 21280731617 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Who can not file a complaint before the appropriate consumer forum?
(1) Central Government

(2) State Government

(3) National Commission

(4) A registered consumer’s organisation.

Options :

212807126465. 1
212807126466. 2
212807126467. 3
212807126468. 4

Question Number : 237 Question Id : 21280731617 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Options :

212807126465. 1
212807126466. 2
212807126467. 3
212807126468. 4

Question Number : 238 Question Id : 21280731618 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

As per Consumer Protection Act 2019, Under which right, consumer get relief against unfair trade
practices :-

(1) Right to be heard

{2) Right to Seek redressal

{3) Right to be assured

{4) Right to safety/Right to be protected
Options :
212807126469. 1
212807126470. 2
212807126471. 3
212807126472. 4

Question Number : 238 Question Id : 21280731618 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Options :

212807126469. 1
212807126470. 2
212807126471. 3




212807126472. 4

Question Number : 239 Question Id : 21280731619 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

As per Consumer Protection Act 2019, Under which right, the consumer has the freedom to access
variety of products at competitive prices :-

(1) Right to Consumer Eduction

(2) Right to be informed

{3) Right to be assured

{4) Right to be heard

Options :

212807126473. 1
212807126474. 2
212807126475. 3
212807126476. 4

Question Number : 239 Question Id : 21280731619 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :

212807126473. 1
212807126474. 2
212807126475. 3
212807126476. 4

Question Number : 240 Question Id : 21280731620 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

refers to a composite of knowledge, skills and host of psychological attributes in a
person that mark his/her effectiveness

(1) Competence
(2) Values

(3) Attitudes

(4) DPersistence

Options :
212807126477. 1



212807126478. 2
212807126479. 3
212807126480. 4

Question Number : 240 Question Id : 21280731620 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :

212807126477. 1
212807126478. 2
212807126479. 3
212807126480. 4

Sub-Section Number : 2
Sub-Section Id : 2128072494
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 241 Question Id : 21280731621 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Compl

Read the following case study and answer the question :
Ramu is very hungry since he did not have breakfast in the morning. By 1.00 P.M., he became
restless and started walking on the road in search of a hotel for snacks or meals.

After walking for 2kms, he could find a hotel where roti and dal was available for ¥ 10. Since
he had only ¥15 in pocket, he paid ¥ 10 and had a satisfying meal. After taking a meal, he felt that
he had regained energy.

Identify the concept that leads to generation of search behaviour ?
(1) Unsatisfied Need
(2) Tension

(3) Hunger
(4) Drives
Options :

212807126481. 1
212807126482. 2
212807126483. 3
212807126484. 4

Question Number : 241 Question Id : 21280731621 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value
Comprehension Compl
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Options :

212807126481. 1
212807126482. 2
212807126483. 3
212807126484. 4

Question Number : 242 Question Id : 21280731622 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

Read the following case study and answer the question :
Ramu is very hungry since he did not have breakfast in the morning. By 1.00 P.M., he became
restless and started walking on the road in search of a hotel for snacks or meals.

After walking for 2kms, he could find a hotel where roti and dal was available for ¥ 10. Since

he had only ¥15 in pocket, he paid ¥ 10 and had a satisfying meal After taking a meal, he felt that
he had regained energy.

The element of Directing to which above case study is related to, do have various importance.
Select out of following, which is not its importance.

{1) Improve performance of Employee

(2) Reduce employee turnover

(3) Either positive or Negative

{4) Reduce absenteeism

Options :

212807126485. 1
212807126486. 2
212807126487. 3
212807126488. 4

Question Number : 242 Question Id : 21280731622 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key Value
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frefafiaa =iy 2reaa & U 3R 3R 20U Ut U9 W& S <

T ! Agd Y& ol § i S wers A H o T e o | 981,00 €9 9%, 98 S @ T iR
F AU A G F o e ged % T wew i ue T

2 fom . = ¥ are, 39 U ged Taen ol 10 wvu d U8 o et we @ faefl | it s Se g
FIA 15 U Y &, T 10 T TH WEN G GH @ F are, S8 @ 3@y sl enfug o 81

Frderm % R wea & swled =ify st daifua § sow stem-stor wee 81 Frerfafes 4 @ 95 9fo i
THEH v G T

(1) e & e 8 gur

(2) HEUD SNIT B FH B

(3) HARHE A HOETH

(4) srqufeesfe =t g wn

Options :

212807126485. 1
212807126486. 2
212807126487. 3
212807126488. 4

Question Number : 243 Question Id : 21280731623 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

Read the following case study and answer the question :
Ramu is very hungry since he did not have breakfast in the morning. By 1.00 P.M., he became
restless and started walking on the road in search of a hotel for snacks or meals.

After walking for 2kms, he could find a hotel where roti and dal was available for ¥ 10. Since

he had only ¥ 15 in pocket, he paid ¥ 10 and had a satisfying meal After taking a meal, he felt that
he had regained energy.

Identify the need of Ramu that is satisfied after taking meal
(1) Basic Physiological Need

(2) Safety Need

(3) Belonging Need

(4) Self Actualisation Need

Options :

212807126489. 1
212807126490. 2
212807126491. 3
212807126492. 4

Question Number : 243 Question Id : 21280731623 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Compl
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212807126490. 2

212807126491. 3
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Question Number : 244 Question Id : 21280731624 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

Read the following case study and answer the question :
Ramu is very hungry since he did not have breakfast in the morning. By 1.00 P.M., he became
restless and started walking on the road in search of a hotel for snacks or meals.

After walking for 2kms, he could find a hotel where roti and dal was available for ¥ 10. Since

he had only ¥15 in pocket, he paid ¥ 10 and had a satisfying meal. After taking a meal, he felt that
he had regained energy.

Select the concept that leads to Ramu’s reduction of tension.
(1) Hunger

(2) Meal

(3) Search Behaviour

(4) Satisfied Need

Options :

212807126493. 1
212807126494. 2
212807126495. 3
212807126496. 4

Question Number : 244 Question Id : 21280731624 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Compl
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Options :

212807126493. 1
212807126494. 2
212807126495. 3
212807126496. 4

Question Number : 245 Question Id : 21280731625 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Compl

Read the following case study and answer the question :
Ramu is very hungry since he did not have breakfast in the morning. By 1.00 P.M., he became
restless and started walking on the road in search of a hotel for snacks or meals.

After walking for 2kms, he could find a hotel where roti and dal was available for ¥ 10. Since

he had only ¥15 in pocket, he paid ¥ 10 and had a satisfying meal. After taking a meal, he felt that
he had regained energy.

Ramu after having meal, is satisfied now. How it will impact him ?
{1) Helps to improve performance
(2) Leads to contribute minimum efforts
(3) Helps in motivating himself to take another meal
(4) Helps in changing his present organisation.
Options :
212807126497, 1
212807126498 2

212807126499. 3
212807126500. 4

Question Number : 245 Question Id : 21280731625 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Compl
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Options :

212807126497. 1
212807126498. 2
212807126499. 3
212807126500. 4

Sub-Section Number : 3
Sub-Section Id : 2128072495
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 246 Question Id : 21280731626 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp2

Read the following case study and answer :

Mr. Anil is working in an MNC as a production manager. Mr. Rajat is working under him who is
responsible for ordering raw material for the firm. Mr, Anil always takes care of his subordinates,
but gives priority to organisational objectives. All the subordinates obey the orders of Mr. Anil
They are self-motivated to take steps.

At which fevel of management, Mr. Anil is working ?
(1) Toplevel

(2) Middlelevel

(3) Lower Level

(4) Operational level

Options :

212807126501. 1
212807126502 2
212807126503. 3
212807126504. 4

Question Number : 246 Question Id : 21280731626 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Comp?2




frefafiaa =iy 2remam & U iR 3R MU Ut U9 HE&r l Se e ¢

Y 31fret v wgudia weedl A ST va R F S FRI I AT e e Fm R S vl &
Tora o=t wver o ST &9 & Tore Saeert €1 oY st een o1ad sfieell @t W@l € WAy SIS
FHwdl o wrefigr 24 &1 ol orefirer of it T oMW B wre I € 1 9% e ey I3 F forg wi
AR &1

A sifrer, vy F frg et w wd e @ e 2

(1) =3 wWin

(2) W=y

(3) Tae il

(4) e @iy
Options :

212807126501. 1
212807126502. 2
212807126503. 3
212807126504. 4

Question Number : 247 Question Id : 21280731627 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp?2

Read the following case study and answer :

Mr. Anil is working in an MNC as a production manager. Mr. Rajat is working under him who is
responsible for ordering raw material for the firm. Mr, Anil always takes care of his subordinates,
but gives priority to organisational objectives. All the subordinates obey the orders of Mr. Anil
They are self-motivated to take steps.

Identify the Principle of management that represent the formal lines of authority between Mr. Anil
and Mr. Rajat.

(1) Equity

(2) Scalar Chain

(3) Subordination of individual interests to general interest
(4) Gang Plank

Options :

212807126505. 1
212807126506. 2
212807126507. 3
212807126508. 4

Question Number : 247 Question Id : 21280731627 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Comp2
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212807126506. 2
212807126507. 3
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Question Number : 248 Question Id : 21280731628 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp2

Read the following case study and answer :

Mr. Anil is working in an MNC as a production manager. Mr. Rajat is working under him who is
responsible for ordering raw material for the firm. Mr, Anil always takes care of his subordinates,
but gives priority to organisational objectives. All the subordinates obey the orders of Mr. Anil
They are self-motivated to take steps.

“Mr. Anil always takes care of his employees but gives priority to organisational objectives” Identify
the principle of management followed by Mr. Anil

(1) Espirit De Corps

(2) Stability of personnel

(3) Subordination of individual interest to general interest
(4) Discipline

Options :

212807126509. 1

212807126510. 2

212807126511. 3
212807126512. 4

Question Number : 248 Question Id : 21280731628 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension Comp2
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Options :

212807126509. 1
212807126510. 2
212807126511. 3
212807126512. 4

Question Number : 249 Question Id : 21280731629 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Comp?2

Read the following case study and answer :

Mr. Anil is working in an MINC as a production manager. Mr. Rajat is working under him who is
responsible for ordering raw material for the firm. Mr, Anil always takes care of his subordinates,
but gives priority to organisational objectives. All the subordinates obey the orders of Mr. Anil
They are self-motivated to take steps.

“All the subordinates obey the order of Mr. Anil.” Which Principle of Management is reflected by
the above statement ?

(1) Unity of Command

(2) Discipline

(3) Authority and Responsibility
(4) Espirit De Corps

Options :

212807126513. 1
212807126514.2
212807126515.3
212807126516. 4

Question Number : 249 Question Id : 21280731629 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Comp?2
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Options :

212807126513. 1
212807126514.2
212807126515. 3
212807126516. 4

Question Number : 250 Question Id : 21280731630 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension Comp?2

Read the following case study and answer :

Mr. Anil is working in an MINC as a production manager. Mr. Rajat is working under him who is
responsible for ordering raw material for the firm. Mr, Anil always takes care of his subordinates,
but gives priority to organisational objectives. All the subordinates obey the orders of Mr. Anil
They are self-motivated to take steps.

“All the subordinates of Mr. Anil are self-motivated to take steps” Identify the principle of
management reflected from above statement.

(1) Initiative

(2) Espirit De Corps

(3) Division of work

(4) Scalar Chain

Options :

212807126517. 1
212807126518. 2
212807126519. 3
212807126520. 4

Question Number : 250 Question Id : 21280731630 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension Comp2
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